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normalized residual r x/crrX s
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0.8

0.6
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Sector_44/ -- TidPlusRing3



# hits

# hits

normalized residual r x/crrX s 2
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0.4]-
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normalized residual r /o s 4
X X -0.3509
RMS 1.254
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Sector_45/ -- TecMinusRing1Rphi



# hits

# hits

normalized residual r /o 452 normalized residualr /o s 869 normalized residual r /o s 43
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Sector 46/ -- TecMinusRinglStereo



normalized residual r x/crrX s 170 normalized residual r X/orX 905 normalized residual r X/crx 143
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Sector_47/ -- TecMinusRIing2Rphi
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Sector 48/ -- TecMinusRing2Stereo



normalized residual r x/0rX 18 normalized residual r X/0r s 749 normalized residual r X/cr s 125
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Sector_49/ -- TecMinusRing3



normalized residual r x/crrX s 12 normalized residual r X/orX 1575 normalized residual r X/cr s 406
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Sector 50/ -- TecMinusRing4
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0
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X r,

S 60
-0.1639
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lo s 9
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2
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0.6
0.4
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Sector 51/ -- TecMinusRIing5Rphi



# hits

# hits

normalized residual r x/crrX s 0 normalized residual r X/0r s 688 normalized residual r X/cr s 3879

0 X 0.1097 X 0.01445
RMS 0 RMS  0.9891 RMS  0.9995
| Underflow 0 [7)] : Underflow 0 wn o Underflow 0
1_ Overflow 0 E 60 o Overflow 0 E : Overflow 0
: Tt *250F
0.81- 50 C
. F 200F
06 B 401 :
I - 150F
i 30 C
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i 20F 100 —
0.2F 10k 50F
O-IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII O:IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII o:lIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
-108 6 4-2 0 2 4 6 8 10 -108 6 4-2 0 2 4 6 8 10 -108 6 4-2 0 2 4 6 8 10
(Xtrk -Xhit )/O-r,x (Xtrk -Xhit )/or,x (Xtrk -Xhit )/Gr,x
normalized residual r X/crrX | 1387 normalized residual r X/er | 685 normalized residual r X/orx | 257
B Underflow . 0 (7)) - Underflow .0209 [7)) F andSevﬂow ' 022
1 0 0 __ Overflow 0 c 50 __ Overflow 0 = 22 E Overflow 0
| ++ r # 20 e
i r 18F
401 E
8or g 16F
I - 14F
N 30 r
60} i 12p
[ i 10f
40 20r 8F
I : 6F
201 10¢ 4F
i - 2F
OIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII O-IIIIIIIIIIIIIIIIIIIIIIIIIilIIIIIIIIIIII O:IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
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# hits

# hits

normalized residualr /o s 118
X X 0.03865
RMS 1.043
: Underflow 0
- Overflow 0
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10F
8F
6F
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2F
—010—8—6 4 -2 0 2 4 6 8 10
(Xtrk -Xhit )/O-r,x
normalized residualr /o IS 0
! 0
RMS 0
Underflow 0
1__ Overflow 0
0.8f
0.6
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0.2k
O-IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

-10-8 6 4-2 0 2 4 6 8 10

(Xtrk _Xhit )/ 0r,><
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normalized residualr /o s 50
X X 0.03761

RMS 1.063

2

1

0

Underflow 0

Overflow 0

-108 6 4-20 2 4 6 8 10

(Xtrk X hit )/ 0-r,x

normalized residual r /o s 5
X X 0.2213
RMS  0.6506
wn o Underflow 0
E 2 :_ Overflow 0
#* 1.8F
1.6F
1.4F
1.2F
a2
0.8F
0.6F
0.4F
0.2F
O:IIIIIIIIIIIIIIIIII IIIIIIIIIIIIIIIII
-10-8 6 420 2 4 6 8 10
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# hits
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Mean 20.07

RMS 5.65
Underflow 0
Overflow 0
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Sector 52/ -- TecMinusRing5Stereo



2808

-0.003603

1.105

0

0

normalized residual r x/crrX s
RMS
(7)) Underflow
E 1__ Overflow
H+ L
0.8
0.6F
0.4F
0.2F
O-IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
-108 6 42 0 2 4 6 8 10
(Xtrk -Xhit )/O-r,x
normalized residualr /o |
9200: Underflow
c o Overflow
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160
140F
120F
100F
80F
60F
A0F
20k
0:||| I W
-108 6 420 2 4 6 8 10

(Xtrk _Xhit )/ 0r,><

# hits

# hits

normalized residualr /o s 9
X X -0.1387
RMS 0.7788
i Underflow 0
3 :_ Overflow 0
2.5k
2F
1.5F
1
0.5F
0: IIIIIIIIIIIIIIIII
-10-8 6 4 -2 0 2 4 6 8 10
(Xtrk -Xhit )/or,x
normalized residual r x/er |s 1520
! 0.02896
RMS 1.07
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80
60
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20F
O-IIIIIIIIIIILI IIIIIIIII IIIIIIIIIIIII
-10-8 6 -4 -2 0 2 4 6 8 10

(Xtrk -Xhit )/ 0r,x
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normalized residual r X/crx s 1510
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O-IIIIIIIIIIILIIIIIIIIIIIIIIIIIIIIIIIII
-108 6 4-2 0 2 4 6 8 10
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normalized residual r X/orx s 69%
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normalized residual r x/crrX 251 normalized residual r X/0r s 145 normalized residual r X/cr s 24

~0.02892 X 0.1289 X 0.1615
RMS 111 RMS 1.045 RMS  0.9164
o Underflow 0 [7)] B Underflow 0 wn o Underflow 0
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20F * 14F *35F
18p r -
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14F 10F 2.5F
! .
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-108 6 42 0 2 4 6 8 10 -108 6 4-2 0 2 4 6 8 10 -10-8 6 420 2 4 6 8 10
(Xtrk -Xhit )/O-r,x (Xtrk -Xhit )/or,x (Xtrk -Xhit )/Gr,x
normalized residualr /o IS 1
’ -0.2262
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0.8F
0.6F
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0.2F
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# hits
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Sector 53/ -- TecMinusRing6



normalized residual r /o s 0
X rX 0
RMS 0
(7)) Underflow 0
E 1__ Overflow 0
+H+ L
0.8
0.6/
0.4]-
0.2l
O-IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
-10-8 6 -4 -2 0 2 4 6 8 10
(Xtrk -Xhit )/O-r,x
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O:IIIIIIIIIII_IIJIIIIIIIIIIILIIIIIIIIIII
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normalized residualr /o s 20
X i 0.2044
RMS 1.085
B Underflow 0
3:_ Overflow 0
2.5k
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1.5F
1
0.5F
O:IIIIIIIIIIIIIIIIIII IIIIIIIIIIIIIIII
-10-8 6 4 -2 0 2 4 6 8 10
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50F
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normalized residual r X/crx
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-108 6 4-20 2 4 6 8 10
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# hits

# hits

normalized residual r x/crrX s 411 normalized residual r X/orX 540 normalized residual r X/crx 261

0.0647 -0.02046 -0.09829
RMS 0.965 RMS 1.018 RMS 0.9969
3 Underflow 0 n 45 Underflow 0 %) 25 __ Underflow o
35 - Overflow o] E F Overflow 0 E - Overflow 0
C # 40F *® [
30 E_ 35 ;_ 20 :—
25[ 30F i
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(Xtrk -Xhit )/O-r,x (Xtrk -Xhit )/or,x (Xtrk -Xhit )/Gr,x
normalized residualr /o IS 36
. -0.254
RMS 1.075
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1.5F
i
0.5F
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Sector 54/ -- TecMinusRing7



# hits

# hits

normalized residual r x/0rX s 0 normalized residual r X/orX s 0 normalized residual r X/cr s 9

0 ! 0 ! 0.5532
RMS 0 RMS 0 RMS 1.042
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1__ Overflow 0 E l__ Overflow 0 E 2 :_ Overflow 0
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[ [ 1 I
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0.2 0.2 0.4F
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normalized residual r x/crrX 201 normalized residual r X/orX 1499 normalized residual r X/crx s 1340
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Sector_55/ -- TecPlusRinglRphi



# hits

# hits

normalized residual r x/crrX 32 normalized residual r X/orX 682 normalized residual r X/crx s 43
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normalized residual r x/crrX s
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Sector 56/ -- TecPlusRinglStereo



normalized residual r /o s 112 normalized residualr /o 872 normalized residual r /o s 116
X X 0122 X X —0.04244 X X 0.1078

RMS 1.061 RMS 1,057 RMS 1.019
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E - Overflow 0 E o Overflow 0 E - Overflow 0
# 12 T+ 60:_ # 12
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-108 6 42 0 2 4 6 8 10 -108 6 4-2 0 2 4 6 8 10 -10-8 6 420 2 4 6 8 10
(Xtrk -Xhit )/ O-r,x (Xtrk -Xhit )/ 0-r,x (Xtrk -Xhit )/ O-r,x
normalized residualr /o IS 10 normalized residualr /o F 2 normalized residualr /o Is 0
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* 1.8 # | * |
1.6F 0.8 0.8
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normalized residual r x/crrX s
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(7)) Underflow
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0.4f
0.2f
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Overflow 0
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Sector_57/ -- TecPlusRing2Rphi



# hits

# hits

normalized residual r /o s 116
X X 01974
RMS 1.023
| Underflow 0
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(Xtrk -Xhit )/O-r,x
| normalized residualr /o IS 1
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Underflow 0
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RMS  0.9882
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normalized residual r x/crrX s
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Sector 58/ -- TecPlusRing2Stereo



normalized residual r x/crrX s 14 normalized residual r X/0r s 726 normalized residual r X/crx 103

-0.0364 X 0.01859 ~0.01036
RMS 1.09 RMS 1.083 RMS 1146
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1.4F ; 8¢
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